1. What is the mass of 0.75 moles of
(NH4)3sPO4? (Ar: N=14, H=1,P=31, 0=16)

0.75 EE@ (NH4)sPOs WBEES/V ? (Ar:
N=14, H=1,P=31, 0=16)
A.101.75 g A\ 55
C.111.75 g \52

B.121.75 g /A 54
D.131.75 g /A i

2. What is a solvent? {258 ?

A.the liquid in which a solute is dissolved to
form a solution. &' E AR I RO RHVRAS ©
B.Another word for solution f# 77 Z 15
— A

C.A thing that make drinks turn colors ;E&X
e

D.Its a metal molecule &2 —({#&&E%+

3. What is the definition of a renewable
resource? A H4EEIRNEREHTE ?

A things that don't run out FI~R 52 HJBRPY
B.things that do run out FH52HYER /S

C.stuff that makes things happen :ZE 5284
HYERPE

D.none of the above DL EEIAE

4. Fossil fuels are classified as
nonrenewable because they....... {BEERE

TEE AR AR - RAEEM....
A.require expensive equipment FEEEEHY
st fA

B.take millions of years to replace 52285
HFA R R A

C.can be found all over [ig& n] &,

D.provide all the energy we use F2LFe((d
HEVFT A RER
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5. Exothermic reactions... A FE. ..

A.Absorb energy TS BE &
B.Release energy ¥ fE &
C.Release Color #4rEA
D.Absorb Color IF Uy BE

6. When does a chemical reaction stop? /b
BT AP Ik 7

A.When the lab is finished = & & == 5¢ kB

B.When the excess reactant is used up & 2% 6f
HY K Y FH 5 1+

C.When the limiting reactant is used up ‘Z[E
ill S FE Y S s

D.Chemical reactions never stop {EE2 K7 JfE 7k

A L

7. What is essential for a combustion
reaction to begin? YRR K7 FERFAGHY DN R
ERfTrE ?

A.Carbon dioxide — 4 {L:h

B.Fuel JZ&#}

C.Fuel, oxygen and heat /Af ~ SR FIZEE
D.Water and oxygen 7KF1& &

8. Which of the following shows the correct
way to balance the chemical equation? L4

THREEUR T LT ERE T A 7
Fe + O,> Fe, 03

A.4Fe + 30, -> 2Fe,03

B.2 Fe + 30, -> Fe,Oq

C.4 Fe + Og -> 2Fe,03

D.None of the options are correctly balanced.
I (BRI (A Y




9. Balance the following chemical equation:
S TR TR

_KCIO3» __ KCI+_0O¢

A.2KCIO3; = 4KCl + O,

B.4KCIO3; = 2KCl + 30,

C.2KCIO3; = 2KCl + 30,

D. None of them ;45— IEHE

10. What are the maximum number of
electrons that go on the first 3 energy levels?
A.2,4,16

B.2,8,18

C.4,8,12

D.3,4,6

11. What is the atomic number of the atom

IOICtured” B+ R TR TR ?

_________
.- ~
e

——————
~
e

~~~~~~~~

~
~ -
‘‘‘‘‘‘‘‘‘

A9

B.10
C.18
D.19

12. Which letter represents the nucleus? If
@?lﬁ%)ﬁ%@‘ ?
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13. Do acids and bases conduct electricity?

EERIRR RS ?

A.Only acids conduct electricity 2 AT 15
HEE

B.Only bases conduct electricity = A g%
=

BE,

C.Bases and acids conduct electricity g1z
HEE

D.Neither conduct electricity ;475 (&

14. According to the pH range given in the
image,which substance is more acidic than

lemon juice? fRIE[E 45 HHAY pH {E#E -
Rt S E’]@&z L%ttf* %ﬂﬁ-: ?

Hsce Cattage et Lye

The pH Scale

A.Hydrochloric acid E&fi%
B.Cabbage #5032
C.Milk 444

D.Milk Of Magnesia §£#.,

15. How does temperature increase the rate
of a chemical reaction? & E4{a{E 51L&

[ FERERER 7
A.Provides lower energy route for the
reaction so that a greater number of particles

have enough energy to react. /)7 fEFE ALig
RAVRE EETE - (HH LAYk A SRR
= ETE -

B.Increased number of collisions increases
the chance of a 'successful collision'hilfiF& v 85
HISE IR0 T Bt i e
C.Particles collide faster and harder so a
larger proportion have greater energy than the
required activation energy. firF-RiEE F L -
Lk eSSy Ll STAR = R S s ol
JHEEEH KHVAER -

D.Greater number of 'active sites' available
for a reaction to take place (referring to solids)

Y SRS AT S A R (5[]
)




16. A student conducted 2 experiments, P
and Q, involving the reaction between iron
and an acid. The volume of hydrogen
produced was measured.

Which of the following could explain the
difference between P and Q? —3428 41T

T 2 {EEER 0 P QM RaENIRE L Ry
[ZHE - HBEENTRAGR -
DUREER ] CARERE PRI Q Z RV ?

/

Volume of
hydrogen

0 Time
A.Student added a catalyst in P 24 7f P tf
AT AR
B.Larger piece of iron was used in P 7£ P =
(S TR Y — SR
C.Less concentrated acid was used in P £¢ P
tp {5 P DR
D.More acid and iron was used in P-P. 5P {5 F
EEEE 20N

17. A student reacted to a carbonate with
an acid and measured the volume of carbon
dioxide gas at regular intervals. Between
which two times was the reaction fastest?

— R4 B B S A [ e - I EHA
AR S(bhRASHIRER - WM R
R

40

w
o

Volume of CO, / cm?
N
o

-t
o

0 2 4 6 8 1.0 1‘2 1;1 16
Time/minutes

A.0-2 minutes 4358  B.2-4 minutes 5%

C.4-6 minutes 478%  D.8-10 minutes 475
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18. When non-metals react with water then
EIFSBEK R FERF

A.Hydrogen gas is formed 25\ &R
B.Carbon dioxide gas is formed £k &b
T RAS

C.Non-metals do not react with water JE 4 &
AN ELK R JE

D.None of these. ;ZLLEIAE -

19. When zinc reacts with dilute sulphuric
acid, a salt is formed with the release of a
gas. The gas produced during this puts off
a burning candle with a pop sound. The gas
evolved during this reaction is: & & B

B RN - PRI RAE - Fib
BEFEENRESRLESE » T
HIBEIEER - R RAEF -
A.hydrogen sulphide #7i {E &

B.oxygen &5

C.sulphur dioxide —%&{EH7

D.hydrogen &5&

20. Name this group: These metals are the
most reactive. 43iB4HM4  BRSBE R
i

A.

ALKAL]
METALS

®

||
1

o

ALKALINE
EARTH

©

TRANSITION
METALS

EEREE
CITTTTTTTITTITITTT]




21. What is the molality of a solution made
by dissolving 3 moles of NaOH in 300
grams of water in mole/kg? Write answer

in number #& 3 EEEE NaOH &f#4F 300 72
KPR AR ER RE RS/ VER/
T2 ? ABFEREE

NaOH

v 2

“Caustic Soda Flakes

Sodium hydroxide

Answer (in number) & X (B%E ) :

22. An element with a mass number of 10
and an atomic number of 7 has how many
protons? Write answer in number. BE#

R 10~ BT FPRR T TR A S EE T ?
HBFRTEE -

Answer (in number) &F X (B ¥F ) :

23. How many ELEMENTS are in this
compound: H>SOs. Write answer in

number FZtEMHHELABE LR :
H.S04, ABEFREZXR

Answer (in number) & & (B ¥ ) :
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24. How many ATOMS are in this
compound: H>SOs . Write answer in

number ZIE&EYWHE L/ VEERETF :
H2S0s - FIBFREEE

Answer (in number) FE (& ¥ ) :

25. How many moles are there in 18 g of
water? Write answer just in number

1BTKEZ/VER ? ABFREE
Answer (in number) & (8% ) :



